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1. 3FAEERT @1 Aerss e & Seod STeRal & IMUR W 3w e wer & P gom aw §) i
39 IR A & 3THR 3RS AT FAhT g, ar 39T SFEHlearT FE dR W T w4 et

Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per our advertisement, your candidature will be summarily
rejected.

2. Foa e E FE F e A RA-GRAH U6 I A IR Ieer-AMe F R a0 st A e
¥ TG ol
Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet before
start answering.

3. WA-9d, 80 WAl & WY WRA-GEAH & & & §, T fawor Wedaa § 9w g3F uve 1 3 @
Sres ax Reed §, OFd ¥ Fad s [@eey s ad
The question paper is in the form of Question Booklet with 80 Objective type questions based on

the curriculum, carrying one mark each with four options indicated, out of which only one will be
unamblguously correct.

4, aﬂﬁaﬁﬁaﬁmmmaﬁeﬁmmmﬁﬁm 3 UH AR 3c e A Fard Forger
;ﬁsﬁmﬁrw@ﬁmmﬁﬂﬁwmmmwwm%t

Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen only as per the instructions given in the OMR answer sheet.

5 wre QRaH A R AT e W 3wt e a1\ ue Faie O
Candidates should write their Name and Roll Number in the space provided in the Question Booklet.

6. WAl & IacR ¢ & AT e & vF 3 7 IR oM verT fFar arar B
A separate OMR sheet is provided for answering the questions.
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10.

1.

12.

13.

14.

15.

dfeh INTHAINR Jeal el AW § Fhat 0 57 @1 &, Ui Sl 1 Sererd/seaer sd g
3eafEE WaueET Sar e afevl a5 3faRed Avaar e veeT 8T S Sreel

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling / bubbling
answers. No spare OMR sheet will be provided.

wa IR & ¥ o s W AT W gRawr Fs (A/B/C/DIE) # 3t o N 3ER e # RF

T T« 9Y forET s e 9w

Question Booklet Code {(A/B/CID/E) printed on the top right corner should be written in the space
provided in OMR Answer Sheet,

UedF T 1 3R B, Foa A & W YT 3F 3N 9T I F AT 0.33 wonenw s R wre

N TF W 8 Iea¥ ITdd el JAHAT S|

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.

oIET gl % 3T Hepoc, AP Wi, TAIC a9, §sHC, HEH Thh, ook difeiet, He w0
mmmmmﬁmmamﬁmwmmmmmmmﬁﬁmaﬁ
ﬁmﬁamm@mwmmmwaﬁmmm@mﬂwﬁﬁﬁw
ﬁammwwm@@ﬁm:wmﬁmmwmaamﬁ
et &7 A& ¥ e fohar S afev

Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. if caught red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, already published in our
website may strictly be followed.

U U H 3Yeley TATT F 3YART IH H & T vy s Fodr gl

Space available in the Question Booklet can be used for rough work.

Tle FATT B W, 3 T IR 3o AT F IW RY v A Ree & v ok Aw 3 w1 R seR
aﬂzﬁﬂmﬁaﬁm&wmmqﬁrmmﬁwmﬁmm:ﬁtmm
HATOF GIaUwT aXae aIRvl

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.

il o gl e gl & a1 daer gdun gler sisd dY Al B

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
ol & a1g, 3Ffeart F 3 UH AR Seer gitaer 3R rania wawr uT oddws w i e Wi
o 3mafit o wawr oF qddEs & AgT @O §, 3 3 OF 3R fie W Aeuiwa & fov fem @
foram Sreem| wder O e fRely sraweeT & odaRs T dider fr feeaerdr sl #r g

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card fo the
Invigilator, OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will not be
considered for evaluation. Responsibility rests with the candidate to hand over the admit card to the
invigitator without fail.

el 3T FERIOT & WRAT & WA A ST, grelifn 3FHgaRt FF giaem & fov feer A o
e fEw o §

The questions in English version alone will be taken as authentic though questions are given in Hindi also for
the convenience of the candidates. )
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daallH_HET (RIEETHY) / Technical Assistant (Photography)

%3787 T a¢ g oar F, S (2,-5) 3R (-2, 9) & TN g W ¥
Find the point on the x-axis which is equidistant from (2, —5) and (-2, 9)

(a) x=-7 b x=-6
(&0 x=7 @ =x=-b

ABCD w& =qdisr &, fod el ofid B(4,0), C(4,3), D(0,3) &1 fawol &1 diars samd|

ABCD is a rectangle whose three vertices are B(4,0), C(4,3), D(0,3). Find length of diagonal
(@ 3 ® 5 v

© 4 @ 5v2

IR T AG, 6) 3R Reg B3, 4) ¥ Reg P, y) & AT wawr & & wls-ar Rwed
LT &7 ‘

If the distance of point P(x, y) from the point A(3, 6) and B(-3, 4) are equal. Then which option
is correct?

@ x+3y=5 ®) x+y=—g—

(© x+y=§ {d) 3x+y=5

39 farg & e sa, S (-1, 7) R (4, -8) W Ssaaer W@ # 23 F o H
Rranfad e

Find co-ordinates of the point which divides the line joining (-1, 7) and (4, —3) in the ratio 2:3?

@ &1 b 6,1
© 1,3) (d (1,5)

forel TaaeElsT &0 aawer o, s OY 7 # (3, 0), (4, 5), (-1, 4) 3T (-2, -1) &
Find area of Rhombus if its vertices are (3, 0), (4, 5), (~1, 4) and (-2, ~1) taken in order
(a) 12 (b) 24
© 6 (d) 48

3 752-TA(P)



10.

11.

1 T —————— & ST BT B

1 Tesla is equal to:

(a) 1043M"/ Gauss (b) 108 91H / Gauss

(e) 103 MG / Gauss (d) 105 N / Gauss
o off vw 5§ A1 5@ ————— Il B

1 Joule in CGS Unit

(a) 10+ UIY /ergs o) 106 TIH /ergs
(e 107 U‘Jﬁj ergs (d) 107 D‘d’?‘i/ergs
faege ey & famr ——— 1

Dimension of electric current is

(a) MT?11 (b) MIT®

(¢c) FHerFa/asHs / Coulombs/ second (d BT § P15 A4 / None of these
afga & T ———— B

Dimension of power 1s

(a) MLT- (b)  MzLT2

(¢c) MB3LAT! (d) ML2T-3

I FE 6 m FUE F R SAA W 23 m W BRT §ar g, & §F @ Iear

— %

If a tower 6 m high cast a shadow of 23 m long on the ground, then the sun’s elevation is
(a) 60° (b)  45°

() 30° d 90

Fee ST O R R TR Y orar S T 40 o A e g §, o9 g AT e
60° A 30° g I F1 TN i FAE —————— ¢

The shadow of a tower standing on level ground is formed to be 40 m longer when the sun’s
altitude is 30° than when it was 60°. The height of the tewer is;

(8) 40V3 m ®)  20¥3 m
© 20m @ 153 m
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12.

13.

14.

15.

16.

17.

FHAGT Ao 8, 15, 27, 39.... & FiA-97 ug 21§ ug ¥ 120 3= gem)
Which term of the arithmetic progression 3, 15, 27, 39.... will be 120 more than its 215t term?

(2) 30 ~  ® 81
© 29 @ 32

k& R A F T, TR 1 +4x+k F HW awaiasd g7

For what value of %, the roots of the equation x* +4x +% are real?

(@) k=6 (b)) k<6
() k=4 @ k<4

I cosf+sinf=v2cos8 AT cosf~sind FH AT &

c0s8 +siné = V2 cos & Then value of cosf —sind is

(a) V2cosé ()] 2vsind
(¢) 2+cosf (d) J2sind

AR V3cot?G—4cotf+v3 =0 @AY cot?H+tan®l FT HT 3

V3 cot?@—4cot@+3 =0 Then value of cot? 6+ tan® g 1s

(@ % ®» 9
3
(© o @ 33

x F AT A€ A sin(x) = sin 60° cos 30° - cos 60° sin 30°
Find value of x.

sin(x) = sin 60° cos 30" —cos60° sin 30°

() 60° ®  30°
© 90° @  45°

I sin@+cosf@=~3 al tand+cotd H HT &
sinf + cos@ =3 then value of tan@ + cot @ is

() 1 (b) 12
() 3 (d 143

5 752-TA(P)



18, 150 m £ e @R W ¥ UE A WL geeH ¥ oY I g5 R W ¥ 2 e 7 e

19.

20.

21.

22.

T 37TTHT FIOT 60° T 45° &7 TN &1 m/min & @ HT afcd

A moving boat is observed from the top of a 150 m high cliff moving away from the cliff. The
angle of depression of boat changes from 60° to 45° in 2 minutes. Speed of boat in m/min

(2 50(3-3) by  25(3—3)

© (3-N3) @ 8V3-1

el TR AT &, d=—4, n=THX an=4, A ‘@ ——————F TR &1
In an arithmetic progression, if d = —4, n =7 and a.= 4, then ‘@’ is equal to
(a) 4 ® 7

(;:) 20 d 28 o

o I ¥ ofg g g

Lenses are usually coated with

(2) HTARTT FREE / Magnesium Fluoride

() T3® FARES / Zine Fluoride
) WEIA F@RIES / Sodium Fluoride
(@ SHfeags TFAIEE / Calcium Fluoride

&Y 3 e TIE B T T 3 F AT Seve e ¥

Mixing of Two primary colors Green and Red in equal proportions produces

(a) ov&T W@ / Yellow Colour

(b) e 7 / Black Colour
(¢) TU-TUTA® L1 / Super-Primary Colour

(@) TafAT @1/ Dark Colour

odT-eTH HIUAT wateFs & fhdel 3TIHEA B &7

How many shades of colour we get in a gray scale image?

(a) 255 (b) 256
() 258 () 1000

6 752-TA(P)



23.

24.

25.

26.

ufsae # Tafos T T SR et ST ¥ Sever weiEar wer S §

Edison is considered as the father of movie studio. His studio was known as

-

(a) uRREsr 9ok / Edison Parlour () WEEe / Paramount
(c) & woteh #RAT / The Black Maria (d)  gASW / Universal

2 MAETSE BT &

2 Gigabyte (GB) is

(@) 2048 THLT / MB ) 2000 T/ MB
(¢ 2024 wHaT /MB @ 1024w MB‘

What is Buffer Memory in camera?

() $EU & ug g5 AAY D § Suwr g A w2 § g § ugd, 3R ¥U @
gfaferd X =3 & QT &5 Sar & / In a camera, it is the memory used to

temporarily store image data before written to memory card

(b) FHH ITANT SATFINT FAET W Hiws FAFART F F A0 fhar simar & /1t is used

to transfer the data to personal computer

(¢y Ig§ q\&i YR @ T ﬁ?g'aar»r AANT F1E ¥ /It is another type of removable memory card

{d) B'EF’:EW =iy ?ﬁ’lé' BT / None of the above

T 9 § S T AER
MPEG stands for

(a) HTT FlET TEHIEH 99 / Meta Photo Experts Group

(b) FHel-that TATHE 99 / Multi-Phase Element Group
(9 ET AR THIEH 79 / Moving Picture Experts Group

(d) FHedI Wi WATET saee Witvrw / Multi-format Processing Event Graphics

7 752-TA(P)



27.

28.

29.

30.

faa &1 dgell Biet a7
The World’s first photo was taken by

(2) @Y ATTIFT / Sony Mavica

~

() Ts¢ = a4y / Robert Noyce
(c) @éﬂ 23T / Louis Daguerre
(d) FAE FEER H / Joseph Nicephore Niepce

mm%%am*mmrmmmﬁmmmw

What is a problem on an image that is often caused by a camera’s electronic flash reflecting
colour from a person’s eyes?

(a) OH 3@ / Black Eye (b)  Tasmr 1@ / Contrast Eye

(©) ¥5 3% /Red Eye : (d) 3 3@ / White Eye

mmmﬁﬁmﬁﬁmaﬁm%lwlﬁﬁrmﬁmﬁmmtﬁwﬁm
-

Resolution indicates the amount of details in a digital photo. It is indicated in PPI, which
stands for?

(a) T ufdr 9 / Print Per Inch
() Toedew uia d@Hhas / Pixels Per Indicator

(@ foeda uia ufafas / Pixel Per Image
() e ufd g9 / Pixels Per Inch

ey # Flar weRTT F FaX As 76 87
Which of the following is not a colour mode in Photoshop?
() WruH a5 & / CMYK (b) 3¥wel I/ Display Colour

(¢) fae#g / Bitmap (d) F T/ Lab Colour

8 752-TA(P)



31

32.

33.

34,

ST AT B §

A Camera Lucida is

(2)
(b)
()
(d

yRiTsS aiFd A / An early bdx camera

THh YRR FI {oF WEsT / A type of range finder camera

TrdY FelTpR HI ZEIT HREOT ITHVT / An artists drawing aid
3‘@3‘?{ H & ;S AET / None of these

fed 3N wIgrrdr # qew qaEs aed gdr §

The main chemical element in film based photography is

(a)

(b)
(©

qi¢RIge / Potassium
QTR FAEs / Potassium Chloride

Tqiar / Silver

(d) WI3FH &=l FeEs / Sodium hypo chloride

RAM & @O &
RAM full form

(a) IS US AARY / Read And Memory

() =7 Ry AFE / Random Access Memory

(c)

{57 vfdeqg AARY / Random Active Memory

(&) Emg?cr F I &I1% 67 / None of these

s grues A1 o7 vedw Afga @S F SR a1ar B

Video editing that uses random access video storage is

(a) Y[+ TFUES / Linear editing

(b) 31¢RA% WFued / Non-Linear editing

() €9 T 29 / Tape to Tape

(d) UaATeler / Analog

752-TA(P)



35.

36.

37.

38.

39.

40.

mmﬁmqﬁﬁﬁﬁmmﬁwm$WMﬁW$%W#
qitrar &, oA &

Camera mounting that straps the camera to the body of the operator to keep the recorded
image reasonably steady 1s known as

(a) TAEHHA / Steadicam ) oA / Studycam

(¢) Testhe / Sturdycam (@ m@at—r # ¥ w5 78T / None of these
wreRiT &, deselect ¥ T W IGEET 9 FE F O IR N F 3GERT
AT B

In photoshop, to turn-off the use of the tool of deselect it, you must use key.

(a) Ctrl+%Z (by Shift+Z

(¢} Shift+D (d Ctrl+D

Rl o7 &1 wem F AT GET U4

Another word for brightness of a colour 1s

(a) v/ Hue . (b) HIF / Saturation
(¢) oedr / Intensity (d) Heicgd / Density

aggﬂﬁqﬁa%ﬁqﬁwwéﬁaﬁmwm%
The tool in photoshop selects area of similar colour

(a) FellA T+ / Clone Stamp (b) #EEr / Lasso
(c) HR&T [ Marquee () AT 372 / Magic Wand

%m@mﬁmzwwaaam%sﬁﬁwwﬁmﬁmﬁﬁmﬁam%

This is the black and white portion of video signal that represents picture contrast and
brightness

(a) $AYAT / Chroma () SEIfd / Luminance
() &/ Key (@  3&Ee / Overlay

agm%mﬁmﬁﬁm%,aﬁ%qﬁﬁﬁwﬁm%l

_ This represents the degree to which an image is transparent.

(a) R / Rendering by F/ Key
(¢) 3IREAdT / Opacity (@ & / Decibel

10 752-TA(P)



41.

42,

43.

44,

45.

46.

%Wﬁmﬁmﬁ%ﬁwmmm!

This would allow the user to make a colour adjustment to a video track in the sequence.

(a) TFaT a1 / Clip speed . (b)  H$HUT { Transition

(c) HEFAT wHE / Video effect (@ 39dFd H q S AE / None of these

e @1 T ww g

The complimentary colour of blue

(a) B/ Green (b)  HafeT / Magenta
() e/ Yellow (@ 9 / Purple

1S 8 foe wiafde  HR¥FdH ——— & FNE W TR

An 8 bit image can support a maximum of

(a) 126 FUt / Colours (b) 256 g9t / Colours
() 254 Foif / Colours @ 1024 Foif / Colours

ey dif3aT wEer F 1080p ST ear ¥
1080p in a video file denotes

(a) 1080 x 720 My / Pixels (b) 1920 x 1080 MFT / Pixels

(c) 1080 x 1024 TO&®EeT / Pixels . (d 2440 x 1080 [T / Pixels

TTH F BT AT B9 T o ISR F7 Sid 96T g7

Which among the image is a vector type image format?

(a) JPEG (by TIFF
(¢} PNG (d EPS

TR § ¥ o9 @ 79 v e 3R T8

Which of the following is not a standard photo print size?

(a) 4}: X 6:: (‘b) 5” X 7:;
@ 8 x10” @ 10" x 12"
11
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47.

48.

49.

50.

51.

52.

What is foot-candle?

(a) lm/ft? - (b) Im/m?
() lux/m? (@) lux/ft?

forely T 7 RECTaT Hed 9 AR § aER Y

The Histogram of a picture is towards far left. The picture is

() T B'Sﬁ?TT/ Over exposed (b) IR & dad / Under exposed
(© TE TFHUR &/ Has correct exposure (d) faw# / Skewed

.o

/16 ¥ TH11 F FEe Th §
Changing from /16 to /11 1s an

(a) 1 TeTg &7 deradr / Increase of 1stop  (B) 1/4 T&Tq &1 d8lair / Increase of 1/4 stop
) 1 Ferq T FHT / Decrease of 1 stop @ 1/2 T &1 AT/ Decrease of 1/2 stop

ﬁé%nwuséa%%ﬁm?rmsﬁmm%mﬁﬁammmwm

A camera uses 1/3 inch CCD. What will be the image sensor size?

(a) 6x9cm () 4.8 X 3.6 mm
{¢) 2.4%x24mm (d) 9.5 % 6.7 mm
3T famerdar ¥ FUTELOT 9T uIZal & wentad Hal §

Reciprocity failure affects sides at exposure of

(2) 1 Qs A FAY AU / 1 second or more

(b) 8 {#HT AT FHEY TS / 8 seconds or more
() 30 qF3 IT HA ¥ / 30 seconds or more
(@ 15 %3 I7 $HY 38 / 15 seconds or more

st 1 BT # ¥ SiA-ar ST qU-aaEr @i 82

Which of the following parts of the eye are the most colour sensitive?

(2) UsH / The rods ' ) gRaeTr / The iris

(¢) =" / The cones () PR && / Vitreus humour

12 752-TA(P)



53.

54.

55.

56.

57.

58.

YEAT T Ul el Flel-87 STAATS fhar ar=ar?

What was the first camera used on the moon?

() FfAd / Nikon . (b) TFIFT / Rolleflex
(¢) %= / Canon (d) &Tses / Hasseblad
FeTZell Wl ————— F AFF &

A Candela is a measure of light

(a) TRIEEY / Wavelength (by  3UEIOT / Exposure
(c) gdr / Intensity (d) dMHAM / Temperature
e & ¥ ey saw
Find the odd one out

(a) JPEG (b) BMP

(¢) PDF (d) TIFF

qFE TE & FAr JF 87

What is mean by Bokeh effect?

(a) TEH YHEN I HleAueh IHETSCAT / A type of Aesthetic blur
() YREISSET TT / Posterizing effect

(¢) ufaf¥e & 3R F FEa&r / Changing image size

(d) FAHS THAT 381 H{AT / Produce artistic effect

@ F gy o dgar ——— ARy AR g £

Intensity of light into the eye is controlled by

(@) 3iifSes 74 / Optic Nerve (b) AT / Retina

(¢) @I=ar / Cornea (d 3R [/ Iris

HISH HAT FH JTHL —— GaRT f&Har ar3m)

Kodak camera was invented by

(a) o STeae / George Eastman ' (b) U3 / Edison -

(¢ EfAIT §e¥ / Lumiere brothers @ 39gwd & @ %I e / None of these
13
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59. & &7 IES el 1Al &7

What is depth of field?
(a) 3w &1 wad / Focus of the lens

() By & 3 A O A mqﬁwﬁ?ﬁmm%/Areainfrontandbehindofthe

subject is sharp in focus

(¢) oF FH hA-wes | Frame size of the Lens

(@ S‘TE_Z?H 3 & &S A&7 / None of these

o1 AT Bl

60. T RRfSce vl
A digital image 1s made up of
(2) Ta¥igst / Resolution () d%ex wiafdal / Vector images
(¢) TSTHT /Bitmap (@ T=dew / Pixels

61 wdr gl Y wIETITH agmgﬁmaﬁamémﬁr%l

Long distance photography is facilitated by
(a) ¥2F 9wy / Visible Light &) -l / X-rays

(¢) 3&aiEd p7oit | Infra-red rays (@ o o / UV rays

62. @mﬁﬁ%sﬁ%aﬁw@m@mﬁ%ﬁaﬁﬁﬂmwmﬁgm
AT ¥ wq 3 aRenia R = &

has been defined as taking of photographs to provide a record of social and

political situations with the aim of conveying information.

() T FrvardT / Travel photography

(b) T [ Wildlife photography
(¢) TshT / Technical Photography

(d) EE‘H—T’%BY Fwreamdr [ Documentary photography

A | 14 752-TA(P)



63.

64.

65.

66.

67.

F 91T T Uy ufed gar
Visible light occurs between

(2) 3000 3 / and 8000 319¥EH / apgstrom
() 3000 AR / and 7000 379EH / angstrom

(¢) 4000 3R / and 7000 FTEH / angstrom
(d) B'CPEE'?T qE ﬁé el / None of these

Jgell R &F N PReATs folw au?

When was the first ever colour photographs taken?
(a) 1861 (b)

() 1901 (d)
AT FAFH —————— Bl &

Luminous Flux is

1881
1900

(@) WY aiel & & UTAT ST fAfFTor i 27 / The rate of energy radiation in the form of

light waves

(b) YHU-HId ¥ fAwRd ST $7 H06T / The part of light energy radiated from the light

source
(0 &g H AT / Measured in Lux

(@) ERRCEH) H T $IS 8T / None of these

3TEA. F HROT AT REE y=ar g

Sky appears to be blue because of

(a) P FUl & 39T JEROT / Radiation of light over dust particles

(b) YF-FHUN & FU YHIT H WA / Reflection of light over dust particles
(©) YR & FO Y1 & A9GAS / Refraction of light over dust particles

(d) ‘EJ‘\F{-EFU]}'T & FIT GBI HI Fhote / Scattering of light over dust particles

GIRIITH Ug e ga 7 oar?
Who coined the term photography?

(a) WIFH Tedic / Fox Talbot (b)
(c) =EEBR AT / Nicephore Niepce (d)

15

W SIS gcT | Sir Issac Newton
T a7 8¢ / Sir John Herschel

752-TA(P)



68.

69.

71.

PIET T 57
What is photon?

()
(b)
O
(d)

argdrca o ¥ 3T=arer weRTer 30T / The light ray come from incandescent lamp

YERIT FST &F U 0T / A particle of light energy
a1l Fal & U AT / A measure of light energy

USRSl FaT &l U ERT/ A stream of light energy

fRaOERRT &7 g 87

What is Chiaroscuro?

(2)
(b)
(e
(D

4

Hafaa @eifca fFed /| Warped Negative film

FaTard uitated fed /| Warped Positive film
o &7 739yt / A lens aberration

geTeT TE AT 9 / A light and shade effect

& HROT da T BH §l

Parallax error is due to

(a)
(®)
(©
G

IT9FT Forer fAEesf&ET / Your flash mis-timing

4t & fFatda ad §Q’ &=T Ua 9T / Viewing and taking lenses being separate
AfaTar For gt @1 393N / Use of ultra wide angle lenses
AT &F &7 39991 / Use of Normal lens

What is a raster image?

(a)
(b)

(©)
(d)

RFded ¥ THHHT § a ufafdd / Images formed by collection of pixels

YErst TE gH F TEAROT d &l wiafag / Image formed by collection of lines and

curves

afet 4 a1 AT / Image formed by vectors
dAar-asal § a1 uiafed / Image formed by nano elements
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72. grelmH ————— W 3TERE Y ¥

Holograms are based on

(a) 39FI 3T sufdeor / Refractio;l and Interference

73.

74.

75.

(b)
©
(d)

dFc WTHFH TS SATAHIT / Vector graphics and interference
g e va safaedor / Optical diffraction and interference

Ci) U eqTdHuT / Polarisation and interference

BRI & e JasH $ 2000 A Al g Har?

Which invention in photography bagged Nobel prize in 2009?

(@
(b)
©
(d)

Uiafdes i / Image Stabiliser

HEr Igﬁ’ﬂ?f 3UHIOT / Charge Coupled Device
ZUoTag HaT / Mirrorless camera

Y UH 3 vW "dew / CMOS sensor

o Tl fAEqd T2 819 e Har

lens gives widest field of vision.

(a) T3S / Fisheye (b)  TATERT / Telephoto
(©) TOETET HI0T / wide angle (@ FHEr / Macro
oY T & I9adeid —— BT Bl

Refractive index of glass is

()
(b)
(@)
(d)

o H. FH / Lower than water

arg ¥ &F / Lower than air
Sref 3T ag & o1 / Between water and air

ool icy CIE H 378 / Greater than water and air
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76.

78.

80.

Tl a0l T &l g7

What is double exposure?

(a) @ e[EIdR gifedr odT / Taking tvo continuous shots

() ar FIEEE F UF & GAf3d ST / Combining two photographs into one
(c) ar ax oA U #AT / Developing film twice

(d) TS Wi H garel B gl FLET / Giving dual tone to single photo

yhTer I g 3 erdl ——————— SN He &
The distance and intensity of light is related by

(a) HIET g9 fAAH [ Mean square law “ @

(b) el FAEH a7 f=H / Root mean square law
(c) hcHA g9 fF¥H / Inverse square law
(d) IFARFATAS =7 / Hyperbolic law

AL T IU-ATTHA &

The color temperature of sunlight is

(a) 12570K (b) 5772 K

(cy 8344 K (d) 4247 K

yfafiT SFIET &, SRR 3iwer §ded ———— GaNT griwe [hal ST &

In image editing Lossless data compression is achieved by

(a) T 3T [hra /| Meta data removal

(b)y GVIcHS sall-8 / Selective blockin
(¢) Tafer / Zipping
() wATar I 3Fer / Flushing raw data

el TR ¥ U Y AT B e S ¥ AT aifed uel # A —————— B ¥

Preferred shutter speed to freeze the motion of a hummingbirds wing is

(a) 1/320 (b)  1/640
(¢) 1/3200 (@  1/32

18 752-TA(P)



